

## ON FUNCTIONAL EQUATIONS OF DEGENERATE DILOGARITHM

TAEKYUN KIM, DAE SAN KIM, HYUNSEOK LEE, JONGKYUM KWON, AND YUNJAE KIM

ABSTRACT. Recently, the degenerate polylogarithm is introduced by Kim-Kim as a degenerate version of the polylogarithm. In this note, we derive some interesting functional equations related to degenerate dilogarithm.

### 1. INTRODUCTION

For  $s \in \mathbb{C}$ , we note that the polylogarithm is defined by a power series in  $z$  as

$$(1) \quad \text{Li}_s(z) = \sum_{n=1}^{\infty} \frac{z^n}{n^s} = z + \frac{z^2}{2^s} + \frac{z^3}{3^s} + \cdots, \quad (\text{see [1, 3]}).$$

This definition is valid for arbitrary complex order  $s$  and for all complex arguments  $z$  with  $|z| < 1$ ; it can be extended to  $|z| \geq 1$  by analytic continuation.

For any  $\lambda \in \mathbb{R}$ , the degenerate exponential functions are given by

$$(2) \quad e_{\lambda}^x(t) = \sum_{k=0}^{\infty} (x)_{k,\lambda} \frac{t^k}{k!}, \quad (\text{see [2]}),$$

where  $(x)_{0,\lambda} = 1$ ,  $(x)_{n,\lambda} = x(x-\lambda)\cdots(x-(n-1)\lambda)$ ,  $(n \geq 1)$ . Note that  $\lim_{\lambda \rightarrow 0} e_{\lambda}^x(t) = e^{xt}$ .

In particular, for  $x = 1$ , we use the notation

$$e_{\lambda}(t) = e_{\lambda}^1(t) = \sum_{n=1}^{\infty} \frac{(1)_{n,\lambda}}{n!} t^n.$$

The compositional inverse of  $e_{\lambda}(t)$  is denoted by  $\log_{\lambda}(t)$  and called the degenerate logarithm. Then we have

$$(3) \quad \log_{\lambda}(1+t) = \sum_{n=1}^{\infty} \lambda^{n-1} (1)_{n,\frac{1}{\lambda}} \frac{t^n}{n!} = \frac{1}{\lambda} ((1+t)^{\lambda} - 1), \quad (\text{see [2]}).$$

Note that

$$\lim_{\lambda \rightarrow 0} \log_{\lambda}(1+t) = \log(1+t).$$

In [2], the degenerate polylogarithm is defined by

$$(4) \quad \text{Li}_{k,\lambda}(x) = \sum_{n=1}^{\infty} \frac{(-\lambda)^{n-1} (1)_{n,\frac{1}{\lambda}}}{(n-1)! n^k} x^n, \quad (|x| < 1, k \in \mathbb{Z}).$$

Note that

$$\lim_{\lambda \rightarrow 0} \text{Li}_{k,\lambda}(x) = \text{Li}_k(x), \quad (k \in \mathbb{Z}).$$

When  $k = 2$ , the degenerate polylogarithm is called the degenerate dilogarithm and given by

$$(5) \quad \text{Li}_{2,\lambda}(x) = \sum_{n=1}^{\infty} \frac{(-\lambda)^{n-1} (1)_{n,1/\lambda}}{(n-1)! n^2} x^n, \quad (|x| < 1).$$

---

2010 Mathematics Subject Classification. 39B32.

Key words and phrases. degenerate polylogarithm; degenerate dilogarithm; functional equation.

We note that

$$\lim_{\lambda \rightarrow 0} \text{Li}_{2,\lambda}(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^2} = \text{Li}_2(x),$$

where  $\text{Li}_2(x)$  is the dilogarithm (see [3]).

It is Carlitz who initiated a study of degenerate versions of Bernoulli and Euler polynomials and numbers. Studying degenerate versions of various special polynomials and numbers became an active area of research and yielded many interesting arithmetic and combinatorial results. In [2], the degenerate polylogarithm is introduced recently as a degenerate version of the polylogarithm. And the degenerate poly-Bernoulli polynomials and numbers, which is a new type of degenerate Bernoulli polynomials and numbers, are defined in terms of the degenerate polylogarithm and several properties concerning the degenerate poly-Bernoulli numbers are derived. Here we deduce several functional equations in the special case of the degenerate dilogarithm.

## 2. FUNCTIONAL EQUATIONS OF DEGENERATE DILOGARITHM

From (5), we note that

$$\begin{aligned} (6) \quad - \int_0^z \frac{\log_{\lambda}(1-t)}{t} dt &= \sum_{n=1}^{\infty} \frac{(-\lambda)^{n-1} (1)_{n, \frac{1}{\lambda}}}{(n-1)!} \frac{1}{n} \int_0^z t^{n-1} dt \\ &= \sum_{n=1}^{\infty} \frac{(-\lambda)^{n-1} (1)_{n, \frac{1}{\lambda}}}{(n-1)! n^2} z^n = \text{Li}_{2,\lambda}(z). \end{aligned}$$

Therefore, by (6), we obtain the following theorem.

**Theorem 1.**  $\text{Li}_{2,\lambda}(z) = - \int_0^z \frac{\log_{\lambda}(1-t)}{t} dt.$

Now, we observe that

$$\begin{aligned} (7) \quad \text{Li}_2(1-z) + \text{Li}_{2,\lambda}(z) &= - \int_0^{1-z} \frac{\log_{\lambda}(1-t)}{t} dt - \int_0^z \frac{\log_{\lambda}(1-t)}{t} dt \\ &= - \int_0^{1-z} \frac{\log_{\lambda}(1-t)}{t} dt - \int_{1-z}^1 \frac{\log_{\lambda}(1-t)}{t} dt - \int_0^z \frac{\log_{\lambda}(1-t)}{t} dt + \int_{1-z}^1 \frac{\log_{\lambda}(1-t)}{t} dt \\ &= - \int_0^1 \frac{\log_{\lambda}(1-t)}{t} dt - \int_0^z \frac{\log_{\lambda}(1-t)}{t} dt + \int_0^z \frac{\log_{\lambda} t}{1-t} dt \\ &= \text{Li}_{2,\lambda}(1) - \int_0^z \left( \frac{\log_{\lambda}(1-t)}{t} - \frac{\log_{\lambda} t}{1-t} \right) dt. \end{aligned}$$

We observe that

$$\begin{aligned} (8) \quad \int_0^z \frac{\log_{\lambda}(1-t)}{t} dt &= \left[ \log t \log_{\lambda}(1-t) \right]_0^z + \int_0^z (1-t)^{\lambda-1} \log t dt \\ &= \log z \log_{\lambda}(1-z) + \int_0^z (1-t)^{\lambda-1} \log t dt, \end{aligned}$$

and

$$\begin{aligned} (9) \quad \int_0^z \frac{\log_{\lambda} t}{1-t} dt &= - \left[ \log_{\lambda}(t) \log(1-t) \right]_0^z + \int_0^z t^{\lambda-1} \log(1-t) dt \\ &= - \log_{\lambda} z \log(1-z) + \int_0^z t^{\lambda-1} \log(1-t) dt. \end{aligned}$$

From (8) and (9), we have

$$(10) \quad \int_0^z \left( \frac{\log_\lambda(1-t)}{t} - \frac{\log_\lambda t}{1-t} \right) dt = \log z \log_\lambda(1-z) + \log(1-z) \log_\lambda z \\ + \int_0^z (1-t)^{\lambda-1} \log t dt - \int_0^z t^{\lambda-1} \log(1-t) dt.$$

By (7) and (10), we get

$$(11) \quad \text{Li}_{2,\lambda}(1-z) + \text{Li}_{2,\lambda}(z) = \text{Li}_{2,\lambda}(1) - \log z \log_\lambda(1-z) - \log_\lambda(z) \log(1-z) \\ + \int_0^z \left( -(1-t)^{\lambda-1} \log t + t^{\lambda-1} \log(1-t) \right) dt.$$

Hence, by (11), we get the following theorem.

**Theorem 2.**

$$\int_0^z \left( t^{\lambda-1} \log(1-t) - (1-t)^{\lambda-1} \log t \right) dt \\ = \text{Li}_{2,\lambda}(1-z) + \text{Li}_{2,\lambda}(z) - \text{Li}_{2,\lambda}(1) + \log z \log_\lambda(1-z) + \log_\lambda(z) \log(1-z).$$

Now, we observe that

$$(12) \quad \int_0^z (1-t)^{\lambda-1} \log t dt = \int_0^z (1-t)^{\lambda-1} \log(t-1+1) dt \\ = - \sum_{n=1}^{\infty} \frac{1}{n} \int_0^z (1-t)^{n+\lambda-1} dt = - \sum_{n=1}^{\infty} \frac{1}{n} \left[ - \frac{(1-t)^{n+\lambda}}{n+\lambda} \right]_0^z \\ = \sum_{n=1}^{\infty} \frac{1}{n(n+\lambda)} \left( (1-z)^{n+\lambda} - 1 \right).$$

and

$$(13) \quad \int_0^z t^{\lambda-1} \log(1-t) dt = - \sum_{n=1}^{\infty} \frac{1}{n} \int_0^z t^{n+\lambda-1} dt = - \sum_{n=1}^{\infty} \frac{z^{n+\lambda}}{n(n+\lambda)}.$$

From (12) and (13), we note that

$$(14) \quad \int_0^z \left( t^{\lambda-1} \log(1-t) - (1-t)^{\lambda-1} \log t \right) dt \\ = - \sum_{n=1}^{\infty} \frac{z^{n+\lambda}}{n(n+\lambda)} - \sum_{n=1}^{\infty} \frac{1}{n(n+\lambda)} \left( (1-z)^{n+\lambda} - 1 \right) \\ = \sum_{n=1}^{\infty} \frac{1}{n(n+\lambda)} \left( 1 - (1-z)^{n+\lambda} - z^{n+\lambda} \right).$$

Therefore, by Theorem 2 and (14), we obtain the following theorem,

**Theorem 3.** For  $\lambda \in \mathbb{R}$ , we have

$$\sum_{n=1}^{\infty} \frac{1}{n(n+\lambda)} \left( 1 - (1-z)^{n+\lambda} - z^{n+\lambda} \right) \\ = \text{Li}_{2,\lambda}(1-z) + \text{Li}_{2,\lambda}(z) - \text{Li}_{2,\lambda}(1) + \log z \log_\lambda(1-z) + \log_\lambda(z) \log(1-z).$$

From Theorem 1, we have

$$\begin{aligned}
(15) \quad \operatorname{Li}_{2,\lambda}\left(-\frac{z}{1-z}\right) &= \operatorname{Li}_{2,\lambda}\left(1-\frac{1}{1-z}\right) \\
&= -\int_0^{1-\frac{1}{1-z}} \frac{1}{t} \log_\lambda(1-t) dt = -\int_1^{1-z} \frac{u}{u-1} \left(\log_\lambda \frac{1}{u}\right) \frac{1}{u^2} du \\
&= \int_1^{1-z} \frac{1}{(u-1)u} \log_{-\lambda}(u) du = \int_1^{1-z} \left(\frac{1}{u-1} - \frac{1}{u}\right) \log_{-\lambda}(u) du \\
&= -\int_1^{1-z} \frac{1}{1-u} \log_{-\lambda}(u) du - \int_1^{1-z} \frac{1}{u} \log_{-\lambda}(u) du \\
&= \int_0^z \frac{\log_{-\lambda}(1-t)}{t} dt - \int_1^{1-z} \frac{\log_{-\lambda}(t)}{t} dt \\
&= -\operatorname{Li}_{2,-\lambda}(z) - \int_1^{1-z} \frac{1}{t} \log_{-\lambda}(t) dt.
\end{aligned}$$

On the other hand,

$$\begin{aligned}
(16) \quad \int_1^{1-z} \frac{1}{t} \log_{-\lambda}(t) dt &= \left[\log t \log_{-\lambda}(t)\right]_1^{1-z} - \int_1^{1-z} \frac{\log t}{t} t^{-\lambda} dt \\
&= \log(1-z) \log_{-\lambda}(1-z) - \int_1^{1-z} \frac{\log t}{t} (t^{-\lambda} - 1 + 1) dt \\
&= \log(1-z) \log_{-\lambda}(1-z) + \lambda \int_1^{1-z} \frac{\log t}{t} \log_{-\lambda}(t) dt - \int_1^{1-z} \frac{\log t}{t} dt. \\
&= \log(1-z) \log_{-\lambda}(1-z) + \lambda \int_1^{1-z} \frac{\log t}{t} \log_{-\lambda}(t) dt - \frac{1}{2} (\log(1-z))^2.
\end{aligned}$$

By (15) and (16), we get the following result.

**Theorem 4.** For  $\lambda \in \mathbb{R}$ , we have

$$\begin{aligned}
& -\lambda \int_1^{1-z} \frac{\log t}{t} \log_{-\lambda}(t) dt \\
&= \operatorname{Li}_{2,\lambda}\left(-\frac{z}{1-z}\right) + \operatorname{Li}_{2,\lambda}(z) + \log(1-z) \cdot \log_{-\lambda}(1-z) - \frac{1}{2} (\log(1-z))^2.
\end{aligned}$$

By replacing  $z$  by  $1-x$ , we get

$$\begin{aligned}
& -\lambda \int_1^x \frac{\log t}{t} \log_{-\lambda}(t) dt \\
&= \operatorname{Li}_{2,\lambda}\left(1-\frac{1}{x}\right) + \operatorname{Li}_{2,\lambda}(1-x) + \log x \log_{-\lambda}(x) - \frac{1}{2} (\log x)^2.
\end{aligned}$$

## REFERENCES

- [1] Jolevska-Tuneska, B.; Fisher, B.; Ozcağ, E. *On the dilogarithm integral*, Int. J. Appl. Math. **24** (2011), no. 3, 361-364.
- [2] Kim, D. S.; Kim, T. *A note on a new type of degenerate Bernoulli numbers*, Russ. J. Math. Phys. **27** (2020), no. 2, 227-235.
- [3] Whittaker, E. T.; Watson, G. N. *A course of modern analysis. An introduction to the general theory of infinite processes and of analytic functions; with an account of the principal transcendental functions*, Reprint of the fourth (1927) edition. Cambridge Mathematical Library. Cambridge University Press, Cambridge, 1996.

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA  
*Email address:* `tkkim@kw.ac.kr`

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA  
*Email address:* `dskim@sogang.ac.kr`

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA  
*Email address:* `luciasconstant@kw.ac.kr`

DEPARTMENT OF MATHEMATICS EDUCATION, GYEONGSANG NATIONAL UNIVERSITY, JINJU 52828, REPUBLIC OF KOREA  
*Email address:* `mathkjk26@gnu.ac.kr`

DEPARTMENT OF MATHEMATICS, KYUNGPOOK NATIONAL UNIVERSITY, DAEGU 702-701, REPUBLIC OF KOREA  
*Email address:* `kimholzi@gmail.com`